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PART -1

Child Development arer fawme va fven e
and Pedagogy -
Which of the following statement is fFrffad 8 @ T &1 F fth & s
incorrect about the process of & qhrn A A a2

development in an individual?

A. Process of development is
multidimensional.

B. There is cultural diversity in the
process of development. ‘

C. Individual mind set, social
interaction play an important role in
individual development. |

D. Individual development is based on
. only environmental factors.

A. Skilled and trained teacher
B. Untrained teacher

C. Experienced teacher

D

. Young talented individual

. foerer i S & el R
&l & |

C. s AT, qrnfi e

 cafemra frr & e yfiveT S &1

D, SR e et TR R
W TR giar 8l

2.  Giving meaning to sensation on the qd rpia & YR G HASAT i 3ref ¥gH
basis of past experience is called- AT FEATT &- :
A. Sensation A, @aedr
B. Imagination B. &9l
C. Motivation C. Jom
D. Perception D oI5 I
3. Teaching should be mainly done by —- Rrerr 77 %9 & — o g ferr s

=Ry

A. P wE yifera e
B. st R

C. et R

D. a1 wfavreneft safe
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yructivist approach

According to cons S crucial for

which of the following i
constructing knowledge?

A. Conditioning

B. Insight

C. Prior knowledge of the learner
D. Rote memorization

Which of the following is not a
characteristic of Gifted child?

A. They are interested in reading and
writing

B. They have the quality of creativity

C. They don’t do original thinking

D. They do their homework quickly

According to Lawrence Kohlberg a
stage of moral development during
which people behave according to social
norms is called?

A. Preconventional level of morality
B. Conventional level of morality

C. Post conventional level of morality
D. Unconventional level of morality

-~ From which of the following questions

creative thinking can be best predicted?
A. Who can answer it?

B. Tell the right answer

C. Can you tell its answer?

D

. What can be different ways to solve
it?

T

TEETdt :
mmmmﬁmm
A. ST

B. §¥

C. Rramfi w1 ol ym

D. R IR TG

;ﬁﬁmmﬁmaﬁwmm

A AR AR

B. T ToATaT 1 VT QY 8
C. e fomaa Tt = 8

D. I U Rehr Fisrar & R A )

AR Hiectant & AR e @ fig
e o @ amnfsres wevet &
ITTHR FFER Hd &, T e T R-

. e 1 gd T R

. AR =T TR WX

. Aforawar =1 g TR &R

. Afcrerar =1 I g w1

o 0O w >

. Frafafaa 9 & fem war & g0 gomos

ferm = waiftres or=a &1 & s
ST AT B

A. I TAGFAT Y
B. W&l W«
C. 1 319 T IGT 1 G 7

D. 30 iR et arem afiel A & i
ST Gl 87
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8. According to Kohlberg’s Moral
Development Theory what should a 8. Frgara *ﬁﬁaﬁﬁ?ﬂa%mﬁ%m
reacher do to inculcate moral value in e R Y Foall 3 e e B T
children? 3 fore 741 AT AR
A. There should be strict discipline in A mﬂg@ﬂ Wmm
the class
¥ A e 6 ==t
B. Moral issues should be discussed in B, w T L
MG c. wdi o Mo o o wereh Al
C. Children should be given material to qe @ 1 ey
read about moral and values G SN e Bt f
D. Children should be informed about raifvy
the rules of conduct
9. According toLev Vygotsky, the zone of 9, aaamtﬁﬂiﬁ * AR e & s fae
proximal development should be used g cor R ¥ QT EQEI’NWTE{I%‘I?
for- ‘
A In Health and Gender A, TR IS H
B. In Teaching and Assessment B. msﬂw@mﬁ
D. In Assessment only D, e S i
10. A teacher divides her students into 10. us fafdrE a7 Rrenfefat = qet & sriedt
groups and conducts activities like 2 sﬂtmgaaf, Wm’ Wa’ﬁ
group discussion, group project, group ah . . ey
i f teaching leami TRl S=erd Al © e
work. This process of teaching learning - e oiv g T 7
refers to- Rram st
A. Joyful leaming | A. AFgES g
B. Inclusive Education B, gwash Rre

C. Competition based learning
D. Learning from social activities

c. wfrafiar smaria R
D. g nfafaftry & diemr
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11.  Which is £9t/tj1e characteristic of a good
adjustment?

A,

B.

In good adjustment person knows

‘his abilities and limits

In this, the level of aspiration is very
high :

In this, there is no conflict in the
mental thoughts of a person

In good adjustment a person has
their own control over his wishes

11.

Y

KR
fafifaa i@ N’%%§
Rty T 2

A. a%‘mﬁmﬁm
q’rxqanffaﬂnﬁmaﬁa;rma%

B. wﬁ,mﬂmuﬁmm

C. mﬁaﬁs%mﬁaﬁaﬁg
0 e Bl

D. mmﬁwﬁsmm%

and behaviour 3R gl W AT B 3y
12. Which section of the RTE Act 2009 12. e R sl 2009 gy
(Right to Education Act 2009) deals arT Rraes F wdal @ Gt 2y
with the duties of the teacher?
A. Section -4 A. gIT-4
B. Section - 21 B. gRI-21
C. Secti_on -24 C. g1T-24
D. Section - 08 D. 91— 08
13.  Which of the following statements is 13. gumash RS deag S efReida
most appropriate regarding inclusive‘ T Fo g 2
education? ! il
A. Provides education in multigrade A. STgeRET e H fRve Suee
s ‘ B. amhor 367 % et a2
B. Gives preference to teachers from 8l
ral areas :
i _ C. o e i o s o
C. Provides educational opportunities _
to economically backward section TToH SRt )
D. Addresses diversity in class D. a4 fafquay < gt =t 8
SPACE FOR ROUGH WORK / T &t % fory s
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) F 2005 also gives importance to _ ‘
C 14. NCF 2005 R Rl & sremar ok R

S I:hich curricular areas apart from
various subjects? L gyt de B T S 7
) A Education ) e R
ii) Health and Physical Education ii) @A afr e R
iii) Work and Education iii) M aftc feram
iv) Education for Peace iv) mﬁ%%mm
A. Only () and (iV) A Fad (i) M (v)
5 only@and @) et () G
C. Only (i) (i) and (V) c. 3 (i) (i) 3 @)
p. All @) @) GiD) Gv) D, @t ) (i) (i) (V)
{5. Which of the following is not a process 15. fafaRad 3 & A dt weat  fg dEd
of learning for children? _ iﬁmqﬁg«; .
A. Argument A T
B. Reflection B. gﬁﬁaﬂ
C. Imagination C. &
D. Maturity D. qfge=dr

16. <f R ¥ srgan forara <6 o sraet

16. According to Jean Piaget at which stage
of development children begin to think ﬁa—aaamﬁa;m:{mgsaq%?f%?
scientifically? _
A. G efi e
A. Sensorimotor stage .
' , B. Td wfraTeTh e

B. Preoperational stage
C. Concrete operational stage | c. o
D. Formal operational stage (Abstract 2 mmm (3'“@

' operational stage) HfFaTeHE JaT)
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17.  According to Right to Education Act 17. ey = ATFR m 2009 %
2009 admission of children to a e FaR e # <Al %1 Tiwy

particular class has been proposed to be TR W SEarfad o w22
on the basis of-

w=q <h g ki Ryfy
A. Socio-economic status of child "
B. Age of child B. W= 6Ty
C. Education of the parent’ C. wrar-faar <t R
D. The ability of the child ‘ D. ==X & @Har
18. «py education I mean an all round 18. <R & AT AR I3 M 1y 1% Wi
drawing out of the best in child and mﬁ(m%qﬁg@ma%ﬁ%
man-body, mind and spirit”. Who has =1 w5 gfoamsT At 27 32
given this definition of education? e
A. Swami Dayanand Saraswati o
B. Swami Vivekanand : B. @l faasrs
C. T.P. Nun Cc. A diaw
D. Mahatma Gandhi D. W\SeAT el
19. “Law of effect’ is the outcome of 19. <yvrfaar =1 e PealaRaaa a e
following leaming theory. i & faear =61 wiawae 22
A. Stimulus response theory A. 3SEua GIWT =
B. Insight theory of learning . B. iftrmy < g = g
C. Social constructivist theory C. umfSe e e
D. Classical conditioning theory of D. mmmmﬁm
learning ' '
20. By using the brainstorming method, the 20. fyERsE= i%ﬁ%r. =+ W= A e a=aid
teacher develops which of the following Fafafaa ¥ 3 g e =@
i hildren?
in the c , (< A gﬁﬁ
A_. Intelligence
g . B. 313‘1[%!
B. Perception =
C. Creativity C. T
D. Memory D. mfa

SPACE FOR ROUGH WORK / & & & o srg
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21.

22.

24.

According to social constructivist theory
of Lev Vygotsky, which method should

be used to assess the student?
A. Oral ass&ssmeni

B. Summative assessment

| o) Collaborative project

D. Standardised test

Ravi is good in studies but weak in
reading and understanding letters and
words, he has good mathematical
understanding. Ravi may suffer from
which of the following disorder?

A. Dyscalculia

B. Dysgraphia

C. Dyslexia

D. Dysphasia

Which are the major socialization
agencies?

I) Community

1) Some social groups
III) Formal educational institution

IV) Family *
A. OnlyI
C. LILMMandIV D.1&1I

B. LI&H

Classical conditioriing theory
propounded by Ivan Paviov explains
learning by-

A. Reinforcement

- B. Association

C. Imitation
D. Insight

21.

22,

24.

g ariicadh & G A e
¥ argan faenfaT < s for fafir &

T e

A, wifaeh AT

B e AT

C. e aEsEY,
D, AT e

oy e i IToST R, e e, el

T, aHE B SN 8, e vt W
aﬁﬁ%ltﬁﬁﬂ%ﬁaaﬁaﬁmﬁwa
ftra & |l 7

ﬁqﬁfﬁﬁﬁﬁaﬁqwﬁm?ﬂﬁﬁ
ggcqaqﬁ:am(@?ﬂm%? »

1) T amie WE

1) i ST JET

V) 9Er

A Fadl B. 1, 11 3R III
C. LI, M3RIV D. 13RI

2 diadrd g SfaaTied e T
fyear, aifeT Y it 3 10 TIE T 8-
A. qAeeH

B. el

C. 3T

D. 3
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26.

25. Outof the following which alternative
shows characteristics of the
preoperational stage given by Jean
Piaget?

A

B.

C.

D.

Thoughts are egocentric

Ability to think logically about

objects and events

Ability to think abstractly and
problem solving

Abstract and scientific thinking

National Education Policy, 2020

Proposed establishment of Preparatory

Class or Balvatika. What is the age limit

of a child for Preparatory Class or
Balvatika?

A.

Prior to age of 4

B. Prior to age of §
C.
D

. Priorto age of 3

Prior to age of 6

27.  The principle of individual differences
denotes that-

Choose the most appropriate option with

respect to the above

A

B.

Every individual has differences in
the context of development .

Every individual has differences in
the context of growth

Every individual has similarities in
the context of growth and
development :
Every individual has differences in
the context of growth and
development

: ﬁw%mﬁﬂmmﬁmaﬁqﬁw

mmﬁmmﬁﬁ,};
) gyifar 87
A. ¥reH Ffsa fem
A g i guar
C. N@Wawwmaﬂﬁ:
¥ gl
D. g iR dgifeh et

. it e A, 2020 3 S

ATt 6t ST W 8. S 5
o1 ST & forg a=a i I g
44

A 48 g A TE

B. 5a§h g TEd

C. 6aid AP T

D. 3§ i A A

¢ wﬁvmﬁﬁmwﬁwmm%ﬁ»

It & wa A Haltis 39 fa

T H-

A. ¥ =afth o fasm & g 3 i
At 3

B. Yo afin il afta Famat i e

B2

C. e wafn i afts ok R 39
o quraTe Xt 3]

D. S afts ¥ g aiv Frer $ 9
& faftrramd 2kt 31
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8. How much percent (%) of a child’s 2.
brain development occurs prior to the fare+Afa 2020 % AT a=) Hufa &
age of 6 according to NEP 20207 g‘ﬁ 9';"“ o forere 6 <t a1 F

EIGIRY:
A. Over 85% P
. (] 3" aa;
B. Over 75% b oot a
C. Over95% C os%d :
D} Over 657 D. 65% & fU®
9. Which of the following statement is 29, aﬁﬁaﬁ#mmm%ﬂg&u%ﬁ *
very correct about development in Sl 3
puman being? ey & gal Tt 9 &
A. Development in human is a Ffywm
qualitative change A. 737 LChUe ERIN
B. Development in human isa B. Wﬁmﬁmm%}
quantitative process : . 5 e
C. Development in Human is both C. 'ﬁq fa 'i' q W AT HATCT
quantitative and qualitative process ' 2 i 81
D. Development in humanis a .
psychological process p, wg A T I CRIECE RIS
30. Rita uses both, assessment for learning 30. ﬁmaq:ﬁa;mﬁ@n@ﬁ ¥ foqu st 3R
and assessment of leamning in her class. draX Wﬁﬂmm%
A. To know the progress and :
achievement level of the children N ?fé{fgﬂﬁ ﬁramﬁﬂwa%am
B. To know the achievement level of
the child B = ET Sqae WA & ford
C. To know the progress of the child C. ﬁﬁmaﬂa{%m
D. To assess the performance of the e :
children after a specified period of DA mﬁl%mﬁ%gﬂh
time T 3o F4 & fag
o E e
SPACE FOR ROUGH WORK/™® w1 & ford we
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31.

32.

33.

34.

35.

PART - 11

General Hindi

forRa sifireafis a6 a2 8-
T - TEd

. FEy _daw

e — rEw

e - faarg

o o w »

S T 35 g ey 35 R S
A @ B. 9K
C. D. 13

I & e Y -
A. SR

B. &

C. @

D. @&

<Ry e T & Py e 6 B
g R?

A. faftrares e

B. Qdeiicreh fshar

C. e e

D. T &g fohar

et yreg o Gy fa=ee &

A " +dmd B #e+ U

C. war+dmd D W+

g R
eyl 3 T 707 7 Ty
SaqTeT A BT 87
A T

B. €%
C. T¥

- D. AW

37.

38.

39.

40.

L ICUGE B [
A. 3
C. ¥

fafty = o 8-

A. Ui forga R war

B. quisra & fafad ¥
C. d@f

D. @i s fafaaer

B. 3
D. A

frferfa o & 9 1 eI & B
W e 27

A TR

B. ERE

C. fRreor s

D. JfrmIE

A % fehel STavaeh aed W TCE?
A = B. W
C. 38 D. IR
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‘ - 3-8 SI9TEE I T
. ﬁqﬁ{%ﬂﬂﬁ?ﬁﬂ I

A Wqﬁuqﬁﬂﬁﬂ%

5 i R e S
C. %’”“i’ﬂma

D. mmﬁ““‘%‘{

a2 ﬁqﬁmiﬁmaﬁmﬂﬁé?
A 987

B. d4d¥

Cc. sAUAY

D. 9%

13, g i o B &

44. grofiren T & femedTal <61 ggTd ¥9g 3
it v et i v X wa it 5 e <

A. T IH
B. WNI-JH
C. ™97 — WA
D. =T fram

45,

46.

47.

T o3 H WA ©-
A. TEIEY qAE
B. HuRd @
C. 3y §HH

D. gg@ ¥

fiferq @ a1 fadieor 82

A SARfEa dEmara faerer
B. TqUifes e Frteer

c. qioraTa fareor

D, TORTATE faReor

I FEAT 39 JETEt 1 31 B

‘A, ger feaer

B. g:@‘f'@m
C: g:@ﬁ‘ﬂ%ﬁ’ﬁlm
D. fear Frama e

. Pt e 5 s oY T < gl T

T SIS SRTI-
A. Iidear
B. 3id:sr
C. a:sr
D. 3fatrr
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49. m%wﬁmnﬁmmmt
A. e Rrgw

B. 3w firerr

C. are frwr

D I & E

Frxferfera oy - e et 4 S
= T Hifvg

A. g -wmr
B. @ft - st
C. HaT-HEH
D. S1-9F

TE AGH, W F AT, AR &
g o g 8-

A. WS
B. fwEms
C. Pams
D. §duaEs

o e =}
A I
B. 3aEd
C. a
p. A=

S3. Rmard e R e e g

v o a tfrs Wi G T
a5 3 a1 TR T 82

A EgHTR
B. ®MRWIRA
C. fra

D. AT

i e A Feadl R IR A s
A FUFRE

B. ERA S

C. IWRHFRF

D. ST &

T T S Y16 B ST 8-
A. foraer-ga
B. SIeAT-YgAT
C. FeT-FF
D. -GG

PART .1

General English

Mmrmm
The Coositution of India
arantees various rights t0 human
beings and majority of them are
Rights |t 2lso guzrantees
many AEbS. particularly o the
m”mnpdmssbaﬂdwlose
‘ﬂwﬁshgbemned'impﬁmm
Rig‘nwspeedyuidblﬁmdzmmal
ﬁsuof;pn'smer. It ensures just fair
and reasonable procedure. The fact that

"s,eedyuizlisapubﬁcimu'esxandit

does serve the social purpose. It is in the
interest of all concerned that the guilt o
innocence of the accused is determined
2s quickly as possible in any given
draumstance. On  the other side
Government and judidary have to keep
watch and take immediate action against
immoral detrimental behavicur of the
prison authorities. There are several
factors chiefly overcrowded jails and
harsh trestment by the jail staff that
contribute to acute mental desperation.
In many cases, producing the prisoner in

" the court, again and 2gain, is another

source of harassment and humiliation.

Now answer the question nos. 56 to 62
based on the above passage.

6. Right to speedy trial is 2 fundamental

fight of a prisooer.

State the tense of the given statement -
A Simple Present Tense

B. Present Perfect Tense

C Present Progressive Tense

D Simple Future Tense

Speedy trialis2 ‘poblic interest’,

because-

A It ensures just, fair and reasonable
procedure.

B The guilt or innocence of the
accused is determined as quickly as
possible in any given circumstance.

C_ Ais correct but B is incomrect

D Both A and B are correct.

Iz the context of the given passage, read

the following consecutive sentences:-

) The Coastitution of India guarantees
various rights to human beings and
majority of them are Fundamental
Rights.

[) It also guarantees many rights,
particularly to the prisoners

There is a logical unity in both

seatences. Such logical unity is called-

A Adbhesion

B Cohesion

C. Coherence

D Structural unity

SPACE FOR ROUGH WORK /& & & ford s
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$9. Which of the following is the source of

‘Right to Speedy Trial"?
Prison Jurisprudence
Public Interest

The Constitution of India

S 0w >

Government and Judiciary

The Constitution of India guar

various rights to human beings.

The passive form of the given statement

would be-

I) Various rights are guaranteed by
the Constitution of India to human
beings.

1I) Various rights have been
guaranteed by the Constitution of
India to human beings.

I1T) Human beings have been

guaranteed various rights by the

Constitution of India.

Only I

Only II

Only Il

All L, 1T and 111

cow»

. There are several factors chiefly

overcrowded jails and harsh treatment
by the jail stafT that contribute to acute
mental desperation

The underlined word, here, means-

A mhdpbyprvyidiﬂsmmey“

B. tobe one of the reasons why
something happens

C. togive something, especially
mooey, in order to provide o
achieve something together with
other people

D. to add new plans or ideas, or help
make improvements to something
so that it becomes more valuable or
successful

Prison jurisprudence recognizes that
prisoners should not lose all their rights
because of imprisonment.

The underlined word, here, means-

A. to know someone or something
because you have seen or heard him
or her or experienced it before

B. to accept that something is legal,
true, or important

C. to praise or reward someone for
what they have done

D. to show public appreciation for the
achievements of someone, or a

person or group

Read the following passage:-

The youth should also direct
their mind towards social service and
see to the welfare of the people because
if they centre their interests only around
themselves. they will never be able to
puild 8 healthy socicty. Their aim
should be to bring peace and tranquility
in the society keeping in mind that every
poccssary StEp of development among
{he different sections of people is being
taken care of. With other developments,
the socicty is also experiencing the birth
of various social evils. In fact, the
society is gradually losing its hold over
all its ethics and the essence of its purity
is fading among youth. Unfortunately,
the youth of today hardly scem to
realize the intenal strength which lies
within them. In fact, they fail to
understand that it is on them that the
future of our nation depends and it is
only through their resolution and firm
determination that the whole scenario of
our nation can be changed. They are
rather guided by cynicism and it is this

" cynical attitude towards the world and

everything which is associated with it
that is preventing them from working
towards a practical solution.

Now answer the question nos. 63 to 70
based on the above passage.

*In this passage, ‘cynicism® means-

A. the fact of using someone’s feelings
or emotions to your own advantage

B. the belief that people are only
interested in themselves and are not
sincere

C. an inclination to believe in the most
favorable outcome

D. suspicion or fear of future harm or
misfortune

+ Which of the following statements

show(s) the author’s anguish about the
youth in particular?

1) With other developments, the society
is also experiencing the birth of
various social evils.

2) In fact, the society is gradually
losing its hold over all its ethics.

3) The essence of its purity is fading
among youth.

4) The youth of today hardly seem to
realize the internal strength which
lies within them

A All1,2,3and 4
B. Only 1and2

C. Only 3 and 4
D.

Only 1,2 and 3

[T
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:ded by cynicism and
65. are rather guided

mhis cynical atfnudﬁ ‘0‘:"‘; ds the
world and cverything whic i
associated with it that is PrEVe? t{'ul
them from working towards 8 practi

solution. ) .
The tone of the underlined word in the
given line is-
A. negative
B. positive
C. optimistic
D. neutral
66.  State the type of the given sentence-

“...if they centre their interests only
around themselves, they will never be
able to build a healthy society.

A. Open Conditional

B. Closed Conditional

C. Hypothetical Conditional
D. Unfulfilled Conditional

67. Which of the following statements does
the author negate about the aim of
youth?

1) Social service
2) Welfare of the people

3) Their interests only around
themselves

4) To bring peace and tranquility in the
society.

Only 1
Only 2
Only 3
. Both 1 and 2

OO0 w >

68,

69.

70.

Read the given sentence,

1.
“...the youth of today hardly soom 17

realize the internal strength which |
within them.” State the functioy, of ¢
underlined word in the sentence, t

)

A. A ncgative adjective
B. A ncgative adverb

C. Apositive adjective
D.

A positive adverb

In the opening line, “The youth shoylg72-
also direct their mind towards socig|
service and see to the welfare of he
people...”, the tone of the author js.

A. Prescriptive

B. Directive

C. Indicative

D. Both (A) and (B)

In fact, the society is gradually losing
its hold over all its ethics and the
essence of its purity is fading among
youth.

By which of the following 73.

phrases/words the underlined word can
be replaced in the given context witho
changing the meaning and the context:

A. slowly

B. unknowingly
C. conveniently
D

. constantly

2 ot 18 caching the students in
S.

class -~ \l/i“ “The chectah is the fastest
Msalayn(;mnl.' What is the part of speech
I:fn (he word fastest”?

Meenu ~ Adjective

Shcdu - Advct’o

gonu - Nou

Monu ~ Verb :

A Mecnu is right.

p, Sheeluis fight

C. Sonu is right.

D. Monuis right

Sumit, 3 young leamer, in his early days
of leaming, used to say, “1 goed to

school.” Instcad of “I went to school "

This is an example of-

A. Slip

B. Fossilization

C. Devclopmental error
D

. Interference

In a language training session, the
trainer makes the following comment to
aleamer:-

“In some ways, you gave an excellent
presentation but you’ll need to speak
more formally when you present it to all
the teachers.”

What aspect of speaking was he talking
about?

A. Fluency B. Interaction

C. Accuracy D. Appropriacy

74, Which approach endorses ‘Fluency is

more important than accuracy*?

A. Grammar - Translation

B. Total Physical Response (TPR)
C. Functional Approach

D. Communicative Approach

- Mr. Raj is travelling from Raipur to
Ahmedabad. He is travelling by air for
the first time. Unfortunately, all the
display boards have crashed that day, so
the airport staff members are frequently
making announcements. Among all the
announcements, Mr. Raj is trying to get
the details about his flight.

So, Mr. Raj is -

A. Listening for gist

B. Listening for specific information
C. Listening for details

D. Listening to infer the attitude of the

speaker

76. Mr. Nitin brought some real texts, such
as menus, timetables, leaflets, etc. to th
class to teach the students the
vocabulary through real objects.
These ‘objects’ are called-

A. Realia
B. Flashcards
C. Charts

D. Models



77. The objective of remedial teaching is to
give additional help to pupils who, for
one reason or another, have fallen
behind the rest of the class in the
English language.

Because-
A Some may have poor memory.

B. Some may have a poor level of
motivation.

C  Some may have a short span of
attention in work situations or
associated behavioural problems

D. All the above situations are possible

78. Read the dialogue between Ms. Nancy,
the teacher and Shweta, a student of

Class - 1.

Ms. Nancy — “What kind of animal is a
lion?”

Shweta —“Umm...."

Ms. Nancy — “It sounds like ‘child’.”
Shweta - “Wild.”

Ms. Nancy — “That’s right.”

In the given context, the underlined
sentence is an example of-

A. Encouraging

B. Prorppting

C. Getting leamner’s attention
D

. Modelling

.

Read the given statements:-

1) Peer correction involves learners
correcting each other’s mistakes,

2) Self-correction is when leamers

correct their own mistakes. 13

3) Peer and sclf-correction help leamgy,
to become independent of the
teacher and more aware of their own
leaming needs.

4) Leamners do not notice their mistakeg
themselves and do not correct them,

A. lisincorrect

B. 2isincorrect

C. 3isincorrect

D

. 4 is incorrect

. A smartphone is a readily available

resource, if thoughtfully used, as a
language learning tool, because one can-

1) store offline dictionary
2) record your own voice and replay
3) access model audio material

Which of the following is true?

A. Only1 3

B. Only2
C. Only3
D

All1,2and3
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PART -1y

Mathematics

Flﬂd the smal]esl fraction which when
15

_x.—-x]—XE gives a whole

added 10 T¥577 10

number.
A 23
40
B. 35
40
c 37
40

p. 31
40

. If /2 =1.414 then the square root of

.—‘ﬁ—l is nearest to:
Jf+l

A. 0172
B. 0414
C. 0.586
D. 1414

. The sum of two numbers is 2490. If

6.5% of one number is equal to 8.5% of
the other, then the numbers are:

A. 989, 1501
B. 1011, 1479
C. 1401, 1089
D. 1411,1079

82.

83.

MR 2=1414 7
feamam

A 0172

B. 0414

V2-1
ﬁ%aﬁ!@w

C. 0.586
D. 1414

A gl & AT 2490 R AR T HETH
6.5% Ta HEAT 5 8.5% H ITR A
e R:

. 989, 1501

. 1011, 1479

. 1401, 1089

. 1411, 1079

o 0w >
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84. 1£10% of x = 20% of y then X : y is

84. R x I 10%, y ¥ 20% F TR A 5.

A man bought oranges at the rate of 8

87 :

‘87 © i Y g EHN M TR RN NAGRA R
equal to: g for Rs. 34 and sold them 2t L Tl 3 12 HR 57 FR QA ¥ fam
A 12 A 1:2 uforRs~57-"°wmmym:ng;s T 45w T T R Fead e

1d to eamn a profit of Rs. 45?7
B. 2:1 B.2:1 should be 50 L
A
C. 5:1 G, 5:] A 0 "
B. 100
D. 10:1 D. ]021. ) B‘ 100
c. 135 C. 135
85 £ 85. [1a2 e 150 D. 150
S. If a=0.1039 then the value o o a=01039 A Va2 -da+143, D
\/432_ 4a+1+3a is: FUARE: @Theavemge age of students of a class is 88, wm%mﬁ?ﬁmmlssaﬂ
fb ) !
A. 0.1039 A. 0.1039 15.8 years. meavmge?;o ::’hsm 1 T it g A 3fvew g 16.4 TR i
the class is 16.4 years and that of the gir Y 154 TR T
B. 0.2078 B. 02078 is 15.4 years. The ratio of the number of e _31"“3“’;1 S
boys to the number of girls in the class e A W st Rrden
C. 1.1039 C. 1.1039 is: o &:
D. 2.1039 D. 2.1039 A 1:2 A1:2
Bli2:3 B. 2:3
.o C. 3:4 C 3:4
86. If the sum of two numbersis 55 and the 86. 7 <y WA F AT 55 8 TUTHH W D.'3:5 D. 3:5
HCF and LCM of these numbers are 5 maa@qmmzssﬁ ; - 9%
and 120 respectively then the sum of the 120%3‘11%@13#%@?[11\'1%:
reciprocals of the numbers is: 89. A alone can complete a work in 16 days 89, AsyaTTEEM S 16T R B
d B alone in 12 days. Starting with A -
A 35 N ES.% :h?eywo:(no:;ltema{edays Tl?e total 2 mw::a:;?ﬁ; ha
601 work will be completed in: Y S pSASELE
S o B. 601 s T R TE FE A
200 55 y
55 e A 12fm
; ays
c 1 ¢ 2 o B. 13
120 - 132 days
: 2 C nifm
D. 120 7
D. 120 e D. 133 gays :
11 4 13% fm
>("1 - "Qf! smcnonnoucnwomuwmiq f" 4 \,1%;'\ HCF)(LC SPACEFORROUGH wonxlmmﬁ:i%ﬁ:m +
(7 Ga-—a+i ("') %2 Re4 = lQ 9 ﬂ*X’Q “ v
X 2 TR 14 =
2 T gdp —a g s g @ “" “"‘*’ 02~
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90. How many times in a day are the hands 90. s fo i Foereft A o1 A A Which of the following are in %, Bfufu§ e ST S

of a clock at right angle? ik damdmgordcrofthelrvalue?
A2 A2 Asasll Aszsnl
B. 24 - ;,’“5 17 911’1517
C 44 c. 4 pssn’ S
3517’1 9'15'17° 11
D. 48 D. 48
crn 783 L
91. The volume of two cubes are in the ratio 91. 3y i ¥ AT T U 8 : 125 R4 7159 TRTREA)
8 . 125. Then the ratio of their edges and T Y1 AT 5 QB T I |
surface areas is: p. 117 2_8_ D758
A 1625 A, 16225 17°11°9°15 17°11°9°15
B.- 6 55 B. 9:25 .
o .8 C. 4:25 " {£3 men or 5 women can complete a 95. k3 qeyar 5 aftarnd v wrd @ 43 ft
o 46 ok D. 36:25 work in 43 days, how long will 5 men QT &7 5 7o 3 6 wieeTd
o " and 6 women take to complete it? Foea3 i o qu
92. The cost of paint is Rs. 36/kg. If 1 kg of 92. Yedramm 36w vfafrm ddasd
paint covers | 5m? how much will it wmwﬁm%ﬁﬁﬁmE A. 10days A lofF
AT
cost to paint out side of a cube having e, af | feam T2 1.5 e B. 12days B. 1fA
2.5 m side? forr T e 27 )
A. Rs. 700 A. & 700 C. 15days C. 15f
B. Rs 784 B. ®.784 D. 18days D. 18
C. Rs 884 C. &.884
D. Rs. 900 D. & 900 There are some cows and crows are in a r’@mmﬁ@qﬁaﬁ(m%maﬁﬁ
. group. The number of legs is 14 more e et i wEm F AP 14 AR
93. The LCM of two prime numbers x and y 93. 3 VA HEATH x Ty (x >y) F thant\mccthcnu.mberofheads The T e d
(x >y) is 161. The value of By - x) is: A amact 161 A (3y -x) FH number of cows is:
A -2 K AN =
B. -1 =2 B. 7 e
' B. -1
c 1 c 1 C. 10 C. 10
D. 2 D. 2 D. 12 D. 12
5 o . 164 smc&:ronkoucnwonx/wmﬁtﬁr&m 4( 6 ﬂ; SPACEFQRRQUGHWORK,mma;mm )3
.4%:1—3'@\' ;;(q Q.syﬂsxc quo % x 1 ‘Hb @—164 %4
W2 Fk 450 > 12 oyt
5 |, Fk 35 o SR 1f 452 T g Z?N'o(,sm&/z%b _ 129 219 ¢ A
5 =60 .

e ‘b £
M i0ser- c-n}m/mz “’Y/a é‘émﬁﬁimuumm w& Se*'f'”c-“"k-MM-E éﬁé 2 #ggllgluﬂllfymumm S%"CG



97.

98.

O 0 @ »

A man travels first 160 km at 64 km/hr
and the next 160 km at 80 km/hr. The
average speed for the 320 km of the tour
is:

35.55 km/r
36 km/hr
71.11 km/hr

71 km/hr

The value of

0.008x0.01x0.0072 +(0.12x 0.0004)
is:

0.012
0.12

1.02

O 0w »

12

. A sum invested at 5% simple interest

per annum grows to Rs. 504 in 4 years.
The same amount at 10% simple interest

per annum in 2% years will grow to:
. Rs. 420
Rs. 450

Rs. 525

© 0 @ »

Rs. 550

98,

97. =t oW 160 Rl R 00. Howlong does 8 tr2in 110 metery o,
64 Reaft e e e 160 Rl Frghy n,,ning-gﬂnespeedm ;f::_h}:mmkem
80 fesft A R AT F@T d A cross 8 bridge 132 metes in leagth?
320 fraft, Hram A Al A 98sec.

A. 3555 fasitda B. 121 sec.
. 242 sec.
B. 36 fRsit /e cl1
. D, 143 sec.
c. 1. fedma ) .
101, The cost price of 6 pens is equal to the
D. 71 fesdiAa selling price of 4 pens. Find the profit
percent.
A 25%
:i.oq(:gg).ouo.oo7zv(o.12xo.0004) B. 6%
- C. 50%
A. 0012 D. 80%
B. 0.12 102. The difference between selling price of
an article at a profit of 4% and 6% is
C. 1.02 Rs3. The ratio of the selling price is:
A 51:52
D. 12
B. 52:53
C. 51:53
T TR A 5% FTURYT oW T4 el & oy
fRMRTITsH TR waER &R e
S TRTH 10% TR W 21 T§03. 1 a person walks at 14 km/hr instead of
e e = W Rt gz B 10 km/hr he would have walked 20 km
: more. The actual distance travelled by
A ®.420 him is;
B. & 450 A 50km
B. 56km
C. &525
C. 70km
D. & 550 D. 80km

1

. 109 v 72 R er @ o
T 132 et o G A TR 3 & R
ST

A 93dEz

B 1213

C 12423

D 1433w

R e e 4 W S R &
T, dvemw whowa 3R Rfvg

A 25%
B. 60%
C. 50%
D. 80%

101,

;_@ 4% 3 6% T T 7 F R e

Fhvw w3 v R
I

A 51:52

B. 52:53

C 51:53

D. 52:55

103. FRw=afs 10 e AT F=RW
ufeft AaR i dgaatds
0fh sRETTa i TR S
HafRE gt
A. 50 f&af.

B. 56 .

c. 70f&sh.

D. sof&s.
2

|

‘F—éﬁjw}o,ﬁ



104, 2 o vt 3 st R oiars 2087, dog, Ar what rate percent per annum will 2 108, 14 & faechy SR ARG T A E

104. 1f the length of the diagonal of a square y
is 20 cm. then its perimeter must be g ofm g e sum of money double in 16 years? s
A 10¥2em A 042 3. A 51% e T
sle,
4
B. 40 cm B. s085t B. 6l%
4 B. gle,
G i C. 4042 asht L 3
A irgad C ,
4 - 71
D. 200cm D. 20035k R
: D. gl% D gl
{95 If cach sidcofasquucisincrc&sedb)' 105. uﬁ@ﬁﬂwwiﬁ%ﬁﬁ g O
25%. Find the percentage change in its 8 T At 36 A | fha wawm
area gz drin 09. (078)x(73) is equal to 12 (0%)(13) wmwTE:
A. 56.25% A 5625% 5
B. 25% e A 04-6__ A 06
C. 50% C. 50% B: 0657 B. 0557
D. 55% D. 55% C. 067 C 087
D. 08571 D 05571
106. Tl'hc]si(:csofatrilnﬂeminthemﬁo 106. @W@WWW%%%
233 Oy ts perimelec’s 156 cm. T ORETY 156 4.5, &1 G T R0, Due to 30% increase in the price of 0. SR T 30% IR F R 7.80
The length of the largest side is: AR e: banana, 3 banana less are available for R b L e
Rs. 7.80. The present rate of banana per =
A. S4cm A s4qsh, gl FTARWE:
B. 68cm B. 688, Rte 560 A T 864
C. 72cm c. 128 SEY B. =888
D. 84cm D. 84 e Sowc c win
107. If the average of x,x+2,x+4,x +6 and 107. 72 x,x +2,x+4,x+6 T x+8F D Rs. 1040 D. ¥ 10.40
x +8 is 11 then the average of the last v 11 & sife i S o s
three observations is:
A1l
A 1 B. 13
13
Be C 15
c 15 1]
' 17 D. 17 ’2
D. le "q |
Ie)
9 C : . SPACE
L 3-8 59 smcr:poncnoucuz(:nxu::?%%vzmqn it o - £ FOR ROUGH WORK /& &t & ford wrg H P
/1,6' T ?5(5"8’\)\' qb - ayq= foo "‘Q“”f':{ 6143 3dM-—> 4% m= 437 2 xm X$3 = (677
< = L\ : 3 +30773 1187
Ty T fatsgerda &7 PEoiee g 72 37T x> g vey)

X
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e is rated as * major” if it

4.
PART -V A ude n Richter Scaleis in e 14, o s g 9 8 e o o
. qataor Aaq R creft
Environmental Studies range Of :ﬁm e B yarl dffrn Y ¥ e
40-49
111 :ﬂ:ﬁ‘tﬁm—-—aﬁlmaﬁm A B o A 40-49
considered very good. qRTIET & BT B 5s0-s59
C. 6.0-69
A. 1-2ppm A. 1-2ppm 54 C 60-69
B. 2-3 B. 2-3ppm . i D 70-79
- &£—Jppm . 115, mm-bcmybeancxamp!cof- 11s, - a t
C. 3-5ppm C. 3-5ppm A Family & i
D. 4-6 ppm D. 4-6ppm B. Association B. Wi
C. Community C. wpm
112, The Environment Protection Act of 112, v ¥ v dew AR R D. Caste D. oy
India was enacted in- ittt ferar @ - )
16. Indian wolf has become an impartant 6. wee e o HEwrqH I &9 o R
A. May 1986 A. w§1986 animal because: s
A It's name appears in Red Data
B. Nov. 1986 B. 1986 Book. A FRIMRTAIFI @Y
C. June1972 C. Fon ERWild Dogs dissppeged AN their B. et et @ el 3 e &
’ ) presence.
D. June2012 D. 72012 C. It has been chosen as a state animal. C RTAFFI WA
D. Itis only an important member of D. g amvadt widla a1 A |
113. In E.V.S. a teacher takes students to a 113, §ftuw. ¥ o R on A Il $ :wddmnofalmoﬂn" Indian HEA1 1 I U HETP 6 Y
Z00 to teach them about animals; This 3 qert ¥ fe fafar & s 1 4@ Drestsy
activity comes under- nfafafy frer ¥ siwfa st - 17. Wllkley.md Black rapid Titration @ e i A YT zrdve Ry awim
A. Project work N method is used for the determination of: fa & Bafor R R &
B. Assignment B s A. Organic carbon content of soil A e AdRweeia
) ) B. Nitrate content of soil B. s
C. Field visit L
e G, (S C. Phosphate content of soil C. R wwR
D. Experiment D. W D. Fluoride content of soil D Feft e wirrie

AN1£2. .V IC PITD AT
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118, Which of the following institstes of
India pizys a vial role 0 supporting the
emvironmental 2W2TENLSS Programme”?

Zoological Survey of India
Botanical Sanvey of India
Wildife Inssmuse of India

A
B.
C
D. All of the sbove
119. Nansra! Gas is composed primarily of-
A Methane /
B o-buune

C. n-ocizne

D. A mixture of p-oc2ne and n-butane

120. Which one of the following is 2n
endocenzyme in sol?
A Celiuizse
B. Invenzse
C. Protease

D. Dehydrogenase

121. Why do 2! food chaies stant with
planes?

A Because plazts are easily grown

B. Because plants are putritious

C. Becmuse plames can produces its 0Wn
EDeTRY

D. Because plants do not require
gy,

118. sra s e aTwmamn
T SRR SR R A A
TEeg e v 7
A TREEIEEEA 81
B WFA | IATSNES 5N
C. YFdE $3%4A &4

D. SE&a

119. y@;hg@w%@ﬁ:}a%—

120. EmE AT A I @ EREAA S
A &g

B FE

C. &8

D. T

121. i a fEaw O S @ I a8

A FEMWITEAIFIRY

B W= MdEEEA

c FehaHsmimmTT=1H
=28

D. ¥l 2 =41 6 a4
&ah
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Set-C

A Toxdty

0. w2 frdvr -

—

33

B. Reactivity A Frosm
C. Tgnitibility B. v
D. Al of the bove C v
< D ZmE;mi
123. Troposphere and Thermospherebelong 123, E
; e it i e @At
A Atmosphere A FFEEa
B. Lithosphere B. Trmza
E C. Hydrosphere C. w9za
Ft, D. Biosphere D. dEaza
124, Who wrote the Book — *Mind, Self and 14, gy s v e et et
F ° A Humans A TR
B. Gramsci B. =y
{' C. Mead C. 4z
§ D. Giddens D. i3
| 125. Which of the following is a viral 125, fm i & @ FavEra T e
2 _? . A feefitmn
B. Filariasis B m:rkm&m
C. Leprosy C. @w
D. Influenza D. IR
126. Which is the first social group of 126. 73 =1 yud AT S 6
; A TR
A Sq;iay ’
B. Community B #W
C. Family C. wHar
D. Neighbourhood D ¥3E-Ya™
SPACE FOR ROUGH WORK / T& & & frd srmg 16,4 Tp 4
816 =153 b = let & =15
T . {f:." Te Te =
6.9
20362-
XIC-BHR-MM-E : C SUMMAIMNAE  see-c



127. The process of separating cotton wool
from cotton seeds is-
A. Knitting
B. Shearing
C. Spinning
D. Ginning

128. Who laid the foundation of the ‘Nature
Study’?
A. Rousseau
B. Louis Agassiz
C. BothA&B
D. None of the above

129. Who can declare an area to be
constituted as a National Park according
to Wild Life Act?

A. Supreme Court

B. High Court

C. State Government
D. Central Government

130. Match List-I & List-Il

List-1 List-1I
a) World HealthDay i) 16 Sept.
b) World Population Day ii) 1% Dec.
¢) World Ozone Day iii)11% July
d) Wordd AIDSDay ~ iv)7® April

A. a-i, bAii, ciii, d-iv
B. a-iv, b-iii, c-i, d-ii
C. a-ii, bAiii, c-iv, d-i

D. a-iii, b-iv, c-ii, d-

127 m%ﬁa;;amﬂ**m

'y

A g
B. &l
c. =i
p. e

128. mmﬁﬂamm
A w8
B. T IR
C. AshBa
p. AR

129, 2 7 e SR % FER G AR
i S 9 i s R R &

A. S AAIHE
B. TR

C. TRATER

D. ¥FawH

130, yeh 1 shogeh o fre -
T ha
2) Pewmafa® i) 16® Sept
b) feswenfad i) 1% Dec.
¢) Prmsiemfaa i) 1% July
d) fregmfas iv) 7% April
A. &, bii, i, d-iv
B. a-iv, bAiii, ¢, d-ii
C. adi, bHii, civ, d-i
D. adii, beiv, c-if, d-i

20362-XJC-BHR-MM-E
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s C NN

PART - V]

Computer Related WWW LS
General Knowledge
131. Choose odd option. 131, Fre forre A 1
tff
A A G
B. j :
ipeg B, je

C. mpeg C. mpeg
D. gif D. gif

132. Which Printer is widely used in Fax 132, g gy & 2 a7 vt e 99 & 9
machine? fomm e 2
A. Dot Matrix Printer A Fe i B
B. Laserjet Printer B. e iz
C. Daisy Wheel Printer c. HhEda i
D. Thermal Printer D. wid it

133. A computer program that copies itself to 133. O s W S g3 AR I
other computers across the internet is Sl & e e @ — e AT A
called ——
A. Computer Virus A T
B. Worms B. T
C. Program Virus C. YW IR E
D. Trojan Horses D. A=A g™

134. What is the full form of ISP? 134, 1spR QT A

A. Internet Service Provider

B. Interface Service Parameter
C. Intemnet Service Parameter
D.

Internet Service Processing

A. Intemnet Service Provider
B. Interface Service Parameter
C. Internet Service Parameter

D. Internet Service Processing

20362-XJC-BHR-MM-E
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135,

Which of the following groups are only 138. mﬁa#ﬂwmw 139. .are equations that perform 139, a w1 T TR
input devices? calculations on values in your Excel ’ e S
iR Scanner feam &2 W Worksheet. (MS-Excef) Tdfiz & AT 97 791 d
. Mouse, Keyboard, A ARTH, TR
Joystick, Light pen A m,ﬁﬂ-m A. Functions A T
B. Mouse, Keyboard, Printer, Light B. weE, & j.tﬁz(,ﬂl?—a“ B. References B Ywm
s . b
AMF C. Formulas C wimEn
C. Mouse, Keyboard, Monitor, C. qm_ﬂiﬂf.m T
Joystick D. Constants D w2
D. Both (B)and (©) D. @MO
: e N 140. Which google product allows you to 140, 333 a1 ey ez SR wgfaaeda,
136. Which of the following has the smallest 136, Prefa 3 & R e survey, quiz or question students with Siresrig af 3 WA W e W e,
St A ) multiple choice, open-ended and other " .
Am; d‘::u A. R fea £ i it i "
S _ . A. Google Drawings A TR
B. Hard disk B. s fea St Gooale Siides B e e
C. Floppy disk c. Wi e C. Google Forms C R
D. Data cartridge p. R D. Google Docs D T
137. Which one of the following is not a 137, frey it & 3 g e Ree
function of Operating System? ey
A. Booting A qfm
B. Disk Management B. fem iz
C. Process Management C. Ww i
D. Data Classification D. TR
138. Full form of “CD" is- 138. “cp" @A) FWIHE
A. Character Disk © A YR
B. Copper Disk B. #w
C. Compact Disk c. ¥= =
D. None of these D. wiAR{
*-
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PART - vII

General Knowledge

141. Who is the Father of the Indian Space
Program?
A. C.V.Raman
B. Vikram Sarabbai
C. M.GK. Menon
D. APJ. Abdul Kalzm
142. Sitanadi Wildlife Sanctuary is in which
state?
A. Bihar
B. Jharkhand
C. Chhattisgarh
D. None of the above

143. INDRA 2021 is a joint military exercise
d between India and which country?

A. USA B. UK

C. Japan D. Russia

144. The Indian Army has leased four Heron
¥ Unmanned Aerial Vehicles (UAVs)
from which country?

A. USA B. Israel
C. France D. Japan

145. Which of the following is called Kashi
of Chhattisgarh?

A. Rajim

B. Kharod
C. Mainpat
D. Bhoramdev

[T T

141. mmaﬂﬁ*“‘*‘m

A #ATH
B. freR GWIWE
Cc. @A FEFA
p. T @t 3w FTH ;

142. Mummm‘hﬁb
A. frer
B. FREE
C. SR
p. FRAFE

143. 2712021 wica 3fv fr 20 1 05 6
=1 I 7
A. G
C. ImA

B3

D. &

144, vl 33 P 2 @ = S0 A Tfed

s A () R R R E?
A tw B. IUHA
C. wiF® D. INHA

145. daTg & wwh el 75a €2
A W
B. &’
C. e
D. WA
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146. [n what
thecxpanp:::n;g;:rcg:;mmu
group? na rock
A 1T%

B. 20%
C. 28%

D. 27T%

147. Who first conceived the idea of
Chbhattisgarh state?
A. Pandit Sundarial Sharma
B. Dr. Khubchand Baghel
C. Pandit Ravishankar Shukia
D. None of the above

148. What was the old name of Chhattisgarh?
A. Kosal :
B. South Kosal
C. North Kosal
D. None of the above

149. When was the First Rocket launched
from India?

A 21 December 1963
B. 21 October 1963

C. 21 November 1964
D. 21 November 1963

150. Whoiis called the lamp of Saf forests?
A Basu.rkcgion

- —

148, g o A AW 70 A
A Fme
B. zEmaiad
C. IF&=ad
D. FaHETE
149, wra @ gran 2 1 &4 e an
A 21 fBEw 1963
B. 21 3R 1963
C. 2173 1964
D. 21 53R 1963

150. geFiadm R sma

B. Surgyj i i

- Surguja Region

C. Bilaspur Region ° Wﬁam;a

D. Durg Region ¢ =

D. Fi&
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